CLEVELAND DIVISION
OF WATER

CONSTRUCTION
STANDARDS




1 _]_/l
2'-65

41/ ll_]ﬂ
METER BY
DIVISION 0OF

1 WATER

7

7

INLET

i,
1_¢ SE -

ELEVATION

I[TEM @ TO BE SET AN AN ANGLE WITH LOCK AND CABLE.

NOTE:

MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEPENDING ON THE
TEE'S, VALVES, AND CHECK VALVES SUPPLIED.

ADJUSTMENTS TO THE BYPASS (ITEM 17> WILL BE MADE BY THE DIVISION OF WATER
AS NEEDED.

ALL BOLTS AND GASKETS BY SUPPLIER.

OUTLET

STANDARD DETAILS

DEPARTMENT 0OF PUBLIC UTILITIES
DIVISION OF WATER
CLEVELAND, OHIO

SuBJECT STANDARD 1%’ METER SETTING WITH

13 METER FOR VAULTS

DRAWN BY RSK -SCALE-

DATE 10-1-1997 |-3-=1-0" | §TD-MO1

CHECKED BY MJS DATE 10-1-97




MATERIALS REQUIRED FOR INSTALLATION

STANDARD 1-1/2” METER SETTING WITH 1-1/2” METER

ITEM REQ’D SIZE DESCRIPTION
1 1 1-1/2” METER BY C.W.D.
2 1 1-1/2” STREAMLINE SWING CHECK VALVE,
COPPER TO COPPER

3 2 1-1/2” STREAMLINE HAND WHEEL GATE VALVES

4 1 1”7 STREAMLINE O.S. & Y. GATE VALVE

5 2 1-1/2” STREAMLINE STREET ELBOW,

COPPER TO COPPER

6 1 1-1/2” STREAMLINE TEE, COPPER TO COPPER

7 2 1-1/2” x 17 x 1-1/2”  STREAMLINE TEE, COPPER TO IRON, FEMALE

8 1 1-1/2” STREAMLINE COUPLING, COPPER TO IRON, FEMALE

9 1 1” STREAMLINE UNION, COPPER TO COPPER
10 1 1-1/2” STREAMLINE COUPLING, COPPER TO IRON, MALE
11 1 1-1/2” BRASS SCREW PLUG
12 1 1-1/2” STREAMLINE COUPLING, COPPER TO IRON, FEMALE
13 2 1-1/2” OVAL FLANGES, FEMALE
14 2 1” STREAMLINE COUPLING, COPPER TO IRON, FEMALE
15 2 1-1/2” STREAMLINE COUPLING, COPPER TO IRON, FEMALE
16 37" 1-1/2” COPPER TUBING - HARD
17 30” 1” COPPER TUBING - HARD
18 1lb. SPECIAL SOLDER

(SEE DRAWING No. STD-M01 and STD-V01).
12-10-98



3/-p¥

i, 1, 1, 1,
45 [ 55 6} 45
METER BY
DIVISION
OF WATER
1)
1
3
0 |
Y, < | | [~
o AT ;
it I @5 6 I
@ @_. | 13 | ‘_@
3 3
5 e
INLET L| | OUTLET _
O = = = -
@% = . I J.U\@
20
ELEVATION STANDARD DETAILS
DEPARTMENT OF PUBLIC UTILLTIES
ITEM(Z) TO BE AT AN ANGLE WITH LOCK AND CABLE. DIVISION OF WATER
CLEVELAND, OHIO
NOTE: )
MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEPENDING ON THE sussecT_STANDARD 2 METER SETTING
TEE'S, VALVES, AND CHECK VALVES SUPPLIED. WITH 2° METER FOR VAULTS
ADJUSTMENTS TO THE BYPASS (ITEM 17> WILL BE MADE BY THE DIVISION OF WATER
AS NEEDED. DRAWN BY RSK -SCALE-
DATE 10-1-1997 3" =1"-0" -
ALL BOLTS AND GASKETS BY SUPPLIER DATE L0-1j097 1 3= 1 S$TD-MO2




10

11

12

13

14

15

16

17

18

2

37”

30”

1lb.

MATERIALS REQUIRED FOR INSTALLATION

STANDARD 2” METER SETTING WITH 2” METER

SIZE

2”

217

2”

1-1/2”

211

2”

27 x1-1/2" x 2”

2”

1-1/2”

2”

2"

2”

2”

1-1/2”

2”

2”

1-1/2”

DESCRIPTION

METER BY C.W.D.

STREAMLINE SWING CHECK VALVE,
COPPER TO COPPER

STREAMLINE HAND WHEEL GATE VALVES
STREAMLINE O.S. & Y. GATE VALVE

STREAMLINE STREET ELBOW,
COPPER TO COPPER

STREAMLINE TEE, COPPER TO COPPER
STREAMLINE TEE, COPPER TO IRON, FEMALE
STREAMLINE COUPLING, COPPER TO IRON, FEMALE
STREAMLINE UNION, COPPER TO COPPER
STREAMLINE COUPLING, COPPER TO IRON, MALE
BRASS SCREW PLUG

STREAMLINE COUPLING, COPPER TO IRON, FEMALE
OVAL FLANGES, FEMALE

STREAMLINE COUPLING, COPPER TO IRON, FEMALE
STREAMLINE COUPLING, COPPER TO IRON, FEMALE
COPPER TUBING - HARD

COPPER TUBING - HARD

SPECIAL SOLDER

(SEE DRAWING No. STD-M02 and STD-V01).

12-10-98



/_ lll
6'-04

2'-0° 107 8" 11"
METER BY THE
DIVISION OF WATER

11° 8”

" INLEL . > QUTLET -
S Ho
- - Ip)]
(O—= | .
: | : |
3 NOTE: ALL BCOLTS AND GASKETS
34 /_7134 3 BY SUPPLIER.
5'-13"
STANDARD DETAILS
PLAN DEPARTMENT 0OF PUBLIC UTILITIES
DIVISION OF WATER
- CLEVELAND, OHIO
NOTE: sumecr . STANDARD 3" METER SETTING
MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEPENDING ON THE WITH 2 METER FOR VAULTS
TEE'S, VALVES, AND CHECK VALVES SUPPLIED.
ADJUSTMENTS TG THE BYFASS (ITEM No. 11) WILL BE MADE BY THE DIVISION OF WATER
AS NEEDED. DRAWN BY RSK —-SCALE—
DATE 10-1-1997 318" = 1 STD-M04
CHECKED BY MNJS DATE 10-1-97




INLET

/_ lll
6'-04

1_ lll
o'-1%

1 UV

METER BY THE
DIVISION OF WATER

ELEVATION

J\(

QUTLET

a

}1
}J

NOTE: ALL BOLTS AND GASKETS
BY SUFPLIER.

STANDARD DETAILS

DEPARTMENT 0OF PUBLIC UTILITIES

DIVISION OF WATER
CLEVELAND, OHIO

sumect_ STANDARD 3" METER SETTING

WITH 2” METER FOR VAULTS

DRAWN BY RSK

DATE 10-1-1997

—-SCALE-
3/16" = 1"

CHECKED BY MJS DATE 10-1-97

STD-MO6




/_ l//
6'-0z

11// 8//

81_0//

8//

11//

®
INLET 0“(_ _

METER AND SPACER
BY DIVISION OF WATER
COMPOUND METER
WHEN REQUIRED

q
|—| )
P—

OUTLET

L
}J

il
e

1/_3//

5 ©

3//

1

A=

/_ 3//
/=77

4//

l//
114

=

_ l//
S'-1z

NOTE: ALL BOLTS AND GASKETS
BY SUPPLIER

NOTE:

PLAN

MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEPENDING ON THE

TEE'S, VALVES, AND CHECK VALVES SUPPLIED.
ADJUSTMENTS TO THE BYPASS (ITEM No. 12) WILL BE MADE BY THE DIVISION OF WATER

AS NEEDED.

STANDARD DETAILS

DEPARTMENT 0OF PUBLIC UTILITIES

DIVISION OF WATER
CLEVELAND, OHIO

SUBJECT.

STANDARD 3" METER SETTING

WITH 3" METER FOR VAULTS

DRAWN BY RSK

—-SCALE-

DATE 10-1-1997

3/16" = 17

STD-M06

CHECKED BY MJS DATE 10-1-97




1 ll/
6'-0%

®

1 lv
) 14_

E/_Oll

METER AND SFACER
BY DIVISION OF WATER
COMPOUND METER
WHEN REQUIRED

/@_ (?@ |

B,

I
NG

a

5/’

J\L(

INLET _H
(_L

J

N

LT

&
ELEVATION

NOTE: ALL BOLTS AND GASKETS

BY SUPPLIER

4

]_>
Is

STANDARD DETAILS

DEPARTMENT 0OF PUBLIC UTILITIES
DIVISION OF WATER
CLEVELAND, OHIO

sumect_ STANDARD 3" METER SETTING

WITH 3" METER FOR VAULTS

DRAWN BY RSK —SCALE-
DATE 10-1-1997 3/18" = 1" STD-MO7
CHECKED BY NJS DATE 10-1-97




STANDARD 3"

MATERTAL REQUIRED FOR INSTALLATION

METER SETTING WITH 3" METER

- FLANGED

ITEM
1

2

10
11
12

13

14

15
16
17
18

19

Reg’d
1

1

36"

10
40
2

42

SIZE

o

2" x 10"
3n

3n

2"

3" X 3" X 3"

2" x 6"
2" x 10"
on
on
on
on
3n
3n
on
3

5/8" x 2-1/2"
5/8" x 3"

5/8"

DESCRIPTION

HAND WHEEL GATE VALVE, SCREWED
BRASS NIPPLE

HAND WHEEL GATE VALVES, FLANGED
SWING GATE CHECK VALVE, FLANGED
0.S.Y. VALVE, SCREWED

TEE, FLANGED

GALVANIZED NIPPLES

GALVANIZED NIPPLE

GALVANIZED ELBOWS-90 DEG.
GALVANIZED STREET ELBOWS
GALVANIZED UNION, MALE TO FEMALE
GALVANIZED PIPE, EXTRA HEAVY

TURBINE METER OR COMPOUND METER
METER & SPACER PROVIDED BY C.W.D.)

BLIND FLANGES, DRILLED & TAPPED
FOR 2" x 6" NIPPLES

BRASS PLUG
RING GASKETS
MACHINE BOLTS
STUD BOLTS

HEX BOLTS

(SEE DRAWING STD-MO6 & STD-M07 & STD-VO01).

11-19-98



-1

(INLET _

NQATE:
MINOR VARIATIONS IN THE OVERALL LENGTH ARE TG BE EXPECTED DEPENDING ON THE

TEE'S, VALVES, AND CHECK VALVES SUPPLIED.
ADJUSTMENTS TO THE BYFASS (ITEM No. ©) WILL BE MADE BY THE DIVISION OF WATER

AS NEEDED.

7'—p"
9" 25 11" 9" /=17
METER AND SPACER
BY DIVISION OF WATER
COMPOUND METER
WHEN REQUIRED
T {@} 1| O ourer
l - > =
L1 | \o)
| N
q]
‘|
73 4-1} g 73
NOTE:
PLAN ALL BOLTS AND GASKETS
— BY SUPPLIER.

STANDARD DETAILS

DEPARTMENT 0OF PUBLIC UTILITIES
DIVISION OF WATER
CLEVELAND, OHIO

sussecT_ STANDARD 4" METER SETTING

WITH 4" METER FOR VAULTS

DRAWN BY RSK -SCALE-
DATE 1011997 | ¥ =1 | STD-M08

CHECKED BY MJS DATE 10-1-97




MATERTALS REQUIRED FOR INSTALLATION

METER

STANDARD 4" METER SETTING WITH 4"
ITEM REQ'D SIZE
1 1 2"
2 1 2" x 10"
3 2 4
4 1 4
5 1 3n
6 2 4n x 3
7 2 3n
8 2 3" x 7-1/2"
9 5 FT 3n
10 1 4
11 1 2"
12 8 gn
13 5 3n
14 64 5/8" x 3"
15 20 5/8" X 2-1/2"
16 6 5/8" x 3-1/2"
17 90 5/8n"

(SEE DRAWING No. STD-M08 & STD-VO01).

11-19-98

DESCRIPTION

HAND WHEEL GATE VALVE, SCREWED

BRASS NIPPLE

HAND WHEEL GATE VALVES, FLANGED

SWING CHECK VALVE, FLANGED

0.S.Y. VALVE, FLANGED

CAST IRON TEES, FLANGED

CAST IRON ELBOWS, FLANGED LONG RADIUS
CAST IRON FLANGE, 4 HOLE

GALVANIZED PIPE, EXTRA HEAVY

TURBINE METER OR COMPOUND METER
(METER & SPACER PROVIDED BY C.W.D)

BRASS PLUG
FLANGE GASKETS
FLANGE GASKETS
MACHINE BOLTS
MACHINE BOLTS
STUD BOLTS

HEX NUTS



7'-11"

-1 S5 2'-0*

METER AND SPACER
BY DIVISION OF WATER.
COMPOUND METER
WHEN REQRUIRED.

7/]

7/[

ll_]ﬂ

9] ]-I_]/'

——
4
O,
N

o e
O_L

.

B OoutLE
)
[ | . F:iuﬁ'
Sa
o]

73 4'-10%"

S8

8[/

NOTE: PLAN

ALL BOLTS AND GASKETS
BY SUPPLIER.

NOTE:

MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEFENDING ON THE

TEE'S, VALVES, AND CHECK VALVES SUPPLIED.

ADJUSTMENTS TO THE BYPASS (ITEM No. 9) WILL BE MADE BY THE DIVISION OF WATER

AS NEEDED.

STANDARD DETAILS

DEPARTMENT OF PUBLIC UTILITIES
DIVISION OF WATER
CLEVELAND, OHIO

sumsecr_ STANDARD 4" METER SETTING

WITH 3" METER FOR VAULTS

DRAWN BY RSK -SCALE-

DATE 5-18-1998 /18" = 1~ s‘l‘D-m

CHECKED BY _MJS DATE 5-18-90




MATERIALS REQUIRED FOR INSTALLATION

STANDARD 4" METER SETTING WITH 3" METER

ITEM REQD  SIZE
1 1 2"

2 1 2" x 10"

3 2 4

4 1 4

5 1 3"

6 2 4"x 3"

7 2 3

8 2 3" x 7-1/2"
9 58-1/2" 3

10 1 3"

11 1 2"

12 2 4" x 3"

13 7 4
14 7 3"
15 56 5/8" x 3"
16 24 5/8" x 2-1/2"
17 8 5/8" x 3-1/2"
18 88 5/8"

DESCRIPTION

HAND WHEEL GATE VALVE,SCREWED

BRASS NIPPLE

HAND WHEEL GATE VALVES, FLANGED
SWING CHECK VALVE, FLANGED

O.S.Y. VALVE, FLANGED

CAST IRON TEES, FLANGED

CAST IRON ELBOWS, FLANGED LONG RADIUS
CAST IRON FLANGE, 4 HOLE

GALVANIZED PIPE, EXTRA HEAVY

TURBINE METER OR COMPOUND METER
METER & SPACER PROVIDED BY C.W.D)

BRASS PLUG

CAST IRON CONCENTRIC REDUCER, FLANGED
FLANGE GASKETS

FLANGE GASKETS

MACHINE BOLTS

MACHINE BOLTS

STUD BOLTS

HEX NUTS

(SEE DRAWING No. STD-M09 & STD-V01).

11-19-98



81_91/

1'-4" 2 3'-0" 1'-4"
METER AND SPACER BY

THE DIVISION OF WATER

2 1'-4°

11

INLET ( _ B < - | /{) \ | e\ | > OUTLET
. Q N4 N /N 0
® e/
aanns : W
= 3
KU - 5 =
» AN
I S
14
98 5/_]_[/
STANDARD DETAILS
NOTE: DEPARTMENT OF PUBLIC UTILITIES
ALL BOLTS AND GASKETS BY SUPPLIER. DIVISION OF WATER
CLEVELAND, OHIO
MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEPENDING ON THE supJecT__STANDARD 6 METER SETTING
TEE'S, VALVES, AND CHECK VALVES SUPPLIED. WITH 6’ METER FOR VAULTS
ADJUSTMENTS TO THE BYPASS (ITEM No. 10> WILL BE MADE BY THE DIVISION OF WATER
AS NEEDED.
DRAWN BY RSK -SCALE-
DrE dpeous | e -ce | STD-M10
CHECKED BY ____ DATE




MATERTALS REQUIRED FOR INSTALLATION

STANDARD 6" METER SETTING WITH 6" METER

ITEM REQ'D SIZE DESCRIPTION
1 1 6" TURBINE OR COMPOUND METER (BY C.W.D.)
2 1 6" SWING CHECK VALVE, FLANGED
3 2 6" HAND WHEEL GATE VALVES, FLANGED
4 1 gn 0.S.Y. VALVE, FLANGED
5 1 2" HAND WHEEL GATE VALVE, SCREWED
6 1 2" BRASS PLUG
7 2 6" x 4" CAST IRON TEES, FLANGED
8 2 gn CAST IRON ELBOWS, FLANGED LR
9 2 4m x 9n CAST IRON FLANGE, 8 HOLE
10 70" gn GALVANIZED PIPE, EXTRA HEAVY
11 1 2" x 10" BRASS NIPPLE
12 8 6" FLANGE GASKETS
13 5 gn FLANGE GASKETS
14 64 3/4" x 3-1/2 MACHINE BOLTS
15 40 5/8" X 3" MACHINE BOLTS
16 8 3/4" x 4" STUD BOLTS
17 72 3/4nm HEX NUTS
18 40 5/8" HEX NUTS

(SEE DRAWING No. STD-M10 & STD-VO01).

4-26-2005



9'-83"

Nok—

”

1y ' Y]
1/—4” 102 2 _SZ 1/—4" 10

METER AND SPACER

1'—4"

9" BY DIVISION OF WATER 9"

T

T
INLET %) 1 <>< N _ _ ) OUTLET _
0 ] h i .
[ 1 —0U
o P
—ied _ =
a K{
].ﬂ 1 v 1[/
95 6'-07 Lo | 95
STANDARD DETAILS
DEPARTMENT OF PUBLIC UTILITIES
NOTE: DIVISION OF WATER
ALL BOLTS AND GASKETS BY SUPPLIER. CLEVELAND, OHIO
suBJecT. STANDARD 6“ METER SETTING
MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEPENDING ON THE WITH 4" METER FOR VAULTS
TEE'S, VALVES, AND CHECK VALVES SUPPLIED.
ADJUSTMENTS TO THE BYPASS (ITEM No. 10> WILL BE MADE BY THE DIVISION OF WATER  rawn ov B A
AS NEEDED. DATE 5-18-1998 |=wz=v2- | STD=-M11
CHECKED BY _MJS DATE 5-1B—-90




MATERTALS REQUIRED FOR INSTALLATION

STANDARD 6" METER SETTING WITH 4" METER

ITEM REQ'D SIZE DESCRIPTION

1 1 4an" TURBINE OR COMPOUND METER
(METER AND SPACER BY C.W.D.)

2 1 6" SWING CHECK VALVE, FLANGED
3 2 6" HAND WHEEL GATE VALVES, FLANGED

4 1 an 0.S.Y. VALVE, FLANGED

5 1 2" HAND WHEEL GATE VALVE, SCREWED

6 1 2" BRASS PLUG

7 2 6" x 4" CAST IRON TEES, FLANGED

8 2 an CAST IRON ELBOWS, FLANGED LR

9 2 4" x 9" CAST IRON FLANGE, 8 HOLE
10 72-1/4" an GALVANIZED PIPE, EXTRA HEAVY
11 1 2" x 10" BRASS NIPPLE
12 2 6" x 4" CAST IRON CONCENTRIC REDUCER, FLANGED
13 8 6" FLANGE GASKETS
14 7 an FLANGE GASKETS
15 56 3/4" x 3-1/2" MACHINE BOLTS
16 56 5/8" X 3" MACHINE BOLTS
17 8 3/4" x 4" STUD BOLTS
18 64 3/4" HEX NUTS
19 56 5/8" HEX NUTS

(SEE DRAWING No. STD-M11 & STD-VO01).

11-19-98



10'-0”

1147
1'—6" 5 3'-6"
METER AND SPACER BY
THE DIVISION OF WATER

INLET CP <P

11_74 llE

11_61/

OUTLET

9,
——
O

"~y

|

1_ l//
°'-85

PLAN

STANDARD DETAILS

DEPARTMENT 0OF PUBLIC UTILITIES

DIVISION OF WATER
CLEVELAND, OHIO
NOTE: ALL BOLTS AND GASKETS BY SUPPLIER.

suBJecT__STANDARD 8% METER SETTING

WITH 87 METER FOR VAULTS
MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEPENDING ON THE
TEE'S, VALVES, AND CHECK VALVES SUPPLIED

ADJUSTMENTS TO THE BYPASS dITEM No. 10> WILL BE MADE BY THE DIVISON OF WATER
AS NEEDED.

DRAWN BY RSK -SCALE-
DATE 10-1-1997 |z =vv | STD-M12
CHECKED BY MJS DATE 10-1-97




MATERTALS REQUIRED FOR INSTALLATION

STANDARD 8" METER SETTING WITH 8" METER

ITEM REQ'D SIZE DESCRIPTION

1 1 g" TURBINE OR COMPOUND METER (BY C.W.D.)
2 1 g" SWING CHECK VALVE, FLANGED

3 2 g" HAND WHEEL GATE VALVES, FLANGED
4 1 6" 0.S.Y. VALVE, FLANGED

5 1 2" HAND WHEEL GATE VALVE, SCREWED
6 1 2" BRASS PLUG

7 2 8" x 6" CAST IRON TEES, FLANGED

8 2 6" CAST IRON ELBOWS, FLANGED LR

9 2 6" x 11" CAST IRON FLANGE, 8 HOLE
10 721 6" GALVANIZED PIPE, EXTRA HEAVY
11 1 2" x 10" BRASS NIPPLE
12 5 g" FLANGE GASKETS
13 5 6" FLANGE GASKETS
14 104 3/4" x 3-1/2" MACHINE BOLTS
15 8 3/4" x 4-1/4" STUD BOLTS
16 112 3/4m HEX NUTS

(SEE DRAWING No. STD-M12 & STD-VO01).

11-19-98



11'-4"

1, 1,
1'-6" 112 3'—Q” 1'=7 1].2 1'-6"

METER AND SPACER BY

THE DIVISION OF WATER
OUTLET

+?% P Y

| VRN > ]
"7

1,
115

115 7/-0%" 105 114
PLAN STANDARD DETAILS
DEPARTMENT OF PUBLIC UTILITIES
NOTE: ALL BOLTS AND GASKETS BY SUPPLIER. DIVISION OF WATER
CLEVELAND, OHIO
MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEPENDING ON THE sussecT__STANDARD 8 METER SETTING
TEE’S, VALVES, AND CHECK VALVES SUPPLIED. WITH 6’ METER FOR VAULTS
ADJUSTMENTS TO THE BYPASS (ITEM No. 10> WILL BE MADE BY THE DIVISON OF WATER
AS NEEDED.
DRAWN BY RSK -SCALE-
DATE 4-26-2005 | d=isa = v-g+ sm-“‘la
CHECKED BY DATE




MATERTALS REQUIRED FOR INSTALLATION

STANDARD 8" METER SETTING WITH 6" METER

ITEM REQ'D SIZE DESCRIPTION

1 1 6" TURBINE OR COMPOUND METER
(METER AND SPACER BY C.W.D.)

2 1 8" SWING CHECK VALVE, FLANGED

3 2 8" HAND WHEEL GATE VALVES, FLANGED
4 1 6" 0.S.Y. VALVE, FLANGED

5 1 2" HAND WHEEL GATE VALVE, SCREWED
6 1 2" BRASS PLUG

7 2 8" x 6" CAST IRON TEES, FLANGED

8 2 6" CAST IRON ELBOWS, FLANGED LR

S 2 6" x 11" DIA. CAST IRON FLANGE, 8 HOLE
10 oo" 6" GALVANIZED PIPE, EXTRA HEAVY
11 1 2" x 10" BRASS NIPPLE
12 2 8" x 6" CAST IRON CONCENTRIC REDUCER,

FLANGED

13 7 8" FLANGE GASKETS
14 7 6" FLANGE GASKETS
15 120 3/4" x 3-1/2" MACHINE BOLTS
16 8 3/4" x 4-1/4" STUD BOLTS
17 128 3/4" HEX NUTS

(SEE DRAWING No. STD-M13 & STD-VO01).

4-26-2005



12/-135"

D/ —_11_24 -6 2’—32” 1/—p¥ pa T

METER AND SPACER
BY DIVISION
OF WATER

) outLer

)

p/—pv

ALL BOLTS AND GASKETS BY SUPPLIER.

INLET ;0
V] B
I
PLAN oTE
NOTE:

MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEPENDING ON THE
TEE’S, VALVES, AND CHECK VALVES SUPPLIED.

ADJUSTMENTS TO THE BYPASS (ITEM No. 10> WILL BE MADE BY THE DIVISION OF WATER
AS NEEDED.

STANDARD DETAILS

DEPARTMENT 0OF PUBLIC UTILITIES
DIVISION OF WATER
CLEVELAND, OHIO

suBJecT_STANDARD 12* METER SETTING

WITH 12 METER FOR VAULTS

DRAWN BY RSK -SCALE-

DATE 10-1-1997 2=v0 | STD-M14

CHECKED BY MJS DATE 10-1-97




STANDARD 12"

MATERTALS REQUIRED FOR INSTALLATION

METER SETTING WITH 12" METER

ITEM REQ'D
1 1
2 1
3 2
4 1
5 1
6 1
7 2
8 2
9 2
10 82"
11 1
12 8
13 5
14 96
15 40
16 8
17 40
18 104

(SEE DRAWING No.

3-6-2009

12"
gn
on
on
12" x 8"
gn

8" x 13-1/2"

gn
2" x 10"
12"
gn
7/8" x 4"

3/4m X 3-1/2"
7/8" x 4-3/4n"
3/411

7/8"

STD-M14 & STD-VO01) .

DESCRIPTION

TURBINE METER

SWING CHECK VALVE, FLANGED
HAND WHEEL GATE VALVES, FLANGED
0.S.Y. VALVE, FLANGED

HAND WHEEL GATE VALVE, SCREWED
BRASS PLUG

CAST IRON TEES, FLANGED

CAST IRON ELBOWS, FLANGED LR
CAST IRON FLANGE, 8 HOLE
GALVANIZED PIPE, EXTRA HEAVY
BRASS NIPPLE

FLANGE GASKETS

FLANGE GASKETS

MACHINE BOLTS

MACHINE BOLTS

STUD BOLTS

HEX NUTS

HEX NUTS



PRESSURE VACCUM BREAKER

12" ABOVE THE HIGHEST OUTLET OR WATER LINE

itz Al silixdlivdlly sl , NN RN AN [0 (AN [N
!

NEW | |
= VALVEPZ‘[‘-T‘ SPRINKLER SYSTEM PIPING
_/
SoREw eI BRASS T o Tee BACKFLOW & IRRIGATION DETAIL
SECTION A-A
A A
t% ‘FDI — )ﬁFLOW
METER — ' 2” TEST TEE —

INLET (_W A ﬂ7/ W —H_O FLOW

=

===l @ ITN==ls

BYPASS—l STANDARD DETAILS
_ DEPARTMENT OF PUBLIC UTILITIES

\ ﬂ
CLEVELAND, OHIO

DIVISION OF WATER
PLAN SUBJECT

TYPICAL 3", 4", 6” AND 8" METER SETTINGS WITH

1%, 1%' OR 2" LAWN SPRINKLER CONNECTION

¥ FOR TYPE AND MODEL OF BACKFLOW DEVICE REQUIRED CONTACT THE DRAWN BY _RSK ]  SCALE
BACKFLOW UNIT AT (216> 664-3944, DATE 1-4-2010 — STD-M15

CHECKED BY DATE




— BRASS CLOSE NIPPLE

BRASS TEST PLUG APPROVED BACKFLOW ASSEMBLY
TEST PORTS INCLUDING TwO <2> BRASS
GATE VALVES.

==
NEW GATE VALVE @&ﬂ = - e
'4\\' i & ‘.
1 Vs v
1] | B/ oy T
NEW TEE L 4 > IE‘I%]? FLOW _

H‘ SUPPORT PIPE TO VAULT FLOOR

LAWN SPRINKLER CONNECTION
[ [ SHALL CONSIST OF INSTALLING
— TEST TEE A GATE VALVE & BRASS TEE

| | | METER L || BETWEEN THE TEST TEE &
TEST PLUG & AN APPROVED
BACKFLOW ASSEMBLY AS SHOWN

BYPASS
| ( |
INLET alln OUTLET_

-
ELEVATION

STANDARD DETAILS

DEPARTMENT 0OF PUBLIC UTILITIES
DIVISION OF WATER

¥ FOR TYPE AND MODEL OF BACKFLOW DEVICE REQUIRED CONTACT THE CLEVELAND, DHID

BACKFLOW UNIT AT (216) 664-3944,
suBJuecT TYPICAL 1é'AND 2’ METER SETTING

WITH 1' AND 1%’ LAWN SPRINKLER CONNECTION

" DRAWN BY _ESK__ SCALE
DATE Li-1-1357 __NNE STD-M16

CHECKED BY _MIS TATE 10-1-27




STOP AND WASTE (S&W)

*¥xSTOP AND WASTE VALVES

(S&W)
"A"
VALVE IS FEMALE fl.\ "A"
NPT THREAD A I\ g
JUMPER WIRE /N
| Hé'.’:ﬁ:‘f |_|
e e e

PLAN

— INSTALL PRESSURE REGULATOR
WHEN DIRECTED BY C.W.D.
IN HIGH PRESSURE AREA ONLY!

¥ REGULATOR IS FEMALE

NPT THREAD

FLOOR

~— SUPPORT

ALTERNATE VALVE LOCATION

VALVE IS FEMALE NPT THREAD
(IF THIS VALVE IS PLACED IN
THE ALTERNATE LOCATION THEN
A COUPLING MUST BE INSTALLED
HERE WITH FEMALE NPT THREADS)

*xxx 3 CONDUCTOR, 22 GAUGE
WIRE IS TO BE INSTALLED
BETWEEN METER LOCATION
AND ENDPOINT DEVICE ON

OUTSIDE OF HOUSE.

a: .-‘“‘

U'WATER SUPPLY

¥ NOTE: IF METER SIZE IS REDUCED FROM THE INCOMING LINE SIZE, THE

APPROPRIATE REDUCTION SHOULD TAKE PLACE AT POINT

IF NEW, MUST BE 17,

IF

ELEVATION

EXISTING MAY BE ¥

METER SIZE "A" "B" "C"
3" 124 6 MIN. | 24* MIN,
” " er | 127 MaX. | 36" MAX.

“D”,

*¥x BALL VALVES MAY BE USED IN PLACE OF STOP AND WASTE VALVES,

*¥xx IF WATER SERVICE IS FOR ANYTHING OTHER THAN A SINGLE OR 2 FAMILY HOUSE,
A BACKFLOW PREVENTION DEVICE IS REQUIRED.
FOR TYPE AND MODEL 0OF BACKFLOW DEVICE REQUIRED CONTACT THE WATER
BACKLFOW UNIT AT 216-664-3944.

STANDARD DETAILS

DEPARTMENT 0OF PUBLIC UTILITIES

DIVISION OF WATER
CLEVELAND, OHIO

SUBJECT.

APPROVED INSIDE BUILDING

METER SETTINGS

FOR 3, 1”

METERS

DRAWN BY RSK

DATE 2-4-2013

—-SCALE-
_NONE

STD-M17

CHECKED BY

DATE




2|
S E%
l%
| - T = -
$ AAAqA C q... K : . . 4 = Ag . 3 )
4 . < A ) - a- B AL 4- : AR . < . -<1.
! WALL
| « .9 TO SPRINKLER SYSTEM
TO HOUSE LINE T e e IR i _®—'—D+ @7 — )
——~ T~ < 2
S&W SIZE |METER SIZE|DIM. ‘A -
3 3’ 123 PLAN LAl
I L 16” 170 TO APPROVED
o VARIES DIM. “A* BACKFLOW
L ASSEMBLY
[0'4
< FLOW N7
4" | TO SPRINKLER SYSTEM
- = —F F[H—FJ = ]
METER SIZE AS APPROVED BY CM.D———
4
x|z | YA a9
R DIM. “A STOP AND WASTE (S&W) - TO APPROVED
: BACKFLOW
oy <0 HOUSE LINE = ; VALVE IS FEMALE y ASSEMBLY
-~ E NPT THREAD 4
e N e i ey e e 3
T ] I e y
FLOW S|s L a
4]
o PN
| FLOOR Uy
I . : v 0 A < .:4 ‘4 4 -q" 4..' . .-,1 . - ‘7- 3
CONTACT LOCAL SEWER AUTHORITY FOR ELEVATION — IF NEW, MUST BE 17, IF  *FOR TYPE AND MODE OF BACKFLOW
SEWER EXEMPTION INFORMATION OR EXISTING MAY BE % DEVICE REQUIRED CONTACT THE
PERMITS AND SALES AT 216-664-2444 FOR BACKFLOW UNIT AT (216)664-3944

LOCAL SEWER AUTHORITY PHONE NUMBERS.

MWATER SUPPLY

APPROVED INSIDE BUILDING METER SETTING FOR 2", 1" METERS

STD-M18

FOR SEWER EXEMPTION, RESIDENTIAL ONLY

REMOTES/REGISTERS SHOULD BE
SIDE BY SIDE ON EXTERNAL WALL

DATE: 12-3-2012




R i

- LA

Z|Z

> (=

PLAN

— LA\ TEST PORTS
| ¥¥HAND WHEEL OF GATE VALVE
EEZE%EE‘_" MUST BE SIZE OF INCOMING SERVICE
DEVICE 1/-1” XBACKFLOW ASSEMBLY
METER TEST PORTS

Z

=

%

[qV]

|

, FLOOR

P a4 2 . . < - - - ; R < a
) . | . . .44 . C e _Aq__.. I < . ) . B . ) . .4 BN
<« o ] . 1 . R A 4 oo L
. . < . <14_ . S 4 4 ) ) Loq i e .
i . A . L Aq - A X AR

T ELEVATION

¥ FOR TYPE AND MODEL OF BACKFLOW DEVICE RERUIRED CONTACT THE
BACKFLOW UNIT AT (216> 664-3944,

NOTE: IF METER SIZE IS REDUCED FROM INCOMING LINE SIZE, THE APPROPRIATE
REDUCTION SHOULD TAKE PLACE AT POINT “B”

** BALL VALVES MAY BE USED IN PLACE OF HAND WHEEL GATE VALVES,

STANDARD DETAILS

DEPARTMENT 0OF PUBLIC UTILITIES
DIVISION OF WATER
CLEVELAND, OHIO

supJecT APPROVED INSIDE BUILDING METER

SETTING FOR lé” METER & BACKFLOW ASSEMBLY

[ RAWN HY RSK SCALE
e | cve | GTD-M20

CHECKED BY _MIS DATE 10-1-97




N
B
B4
[N
[
b4
B
a

MIN
MAX.

1z’
18

OUTSIDE READING DEVICE——

PLAN

1/-57

**HAND WHEEL GATE VALVE

MUST BE SIZE 0OF
INCOMING SERVICE

METER

TEST PORTS

*¥BACKFLOW ASSEMBLY [

MIN
MAX.

24’
36

TEST PORTS

=— SUPPORT

FLOOR |

% N a N N .
o T N 4 . ..
A ¥ : R -4 a - -

.4.._.44_ . ._-4 ) 4‘4$

| ELEVATION

]/

¥ FOR TYPE AND MODEL OF BACKFLOW DEVICE REQUIRED CONTACT THE BACKFLOW

UNIT AT (216> 664-3944.

NOTE: IF METER SIZE IS REDUCED FROM THE INCOMING LINE SIZE, THE APPROPIATE

REDUCTION SHOULD TAKE PLACE AT POINT

*¥* BALL VALVES MAY BE USED IN PLACE OF HAND WHEEL GATE VALVES.

"B,

STANDARD DETAILS

DEPARTMENT 0OF PUBLIC UTILITIES
DIVISION OF WATER
CLEVELAND, OHIO

suBJECT___APPROVED INSIDE BUILDING METER

SETTING FOR 2 METER & BACKFLOW ASSEMBLY

" DRAWN BY _ESK__ SCALE
DATE Lh-1-a7 3= v STD-M22

CHECKED BY _MIS TATE 10-1-27




PRESSURE VACCUM BREAKER

NIV

12” ABOVE THE HIGHEST OUTLET OR WATER LINE

FROM METER SETTIN
M» VALVE- PfT SPRINKLER SYSTEM PIPING
BACKFLOW & IRRIGATION DETAIL
a2 A “a "4 < < - T pa)
. 4 4 4 4 . S g - g | | 3
o
VAULT WALL—=. 18" MIN 6" MIN, 18" MIN. | E
i 36" MAX 12 MAX. 36" MAX. COUPLING WITH
4 METER aq BRASS SCREW PLUG
B DRAIN TEE
o — —ERyr— NS T —— =
( = :S HE = I ——1 €
FLOW . ' SEE BACKFLOW
_fEw _ | FLOW
] SEE DRAIN o DETAIL ABOVE
TEE DETAIL N
3 4
103"
M- A
HAND WHEEL GATE VALVE—
MUST BE SIZE OF INCOMING STANDARD DETAILS
SERVICE. VALVE IS FEMALE PLAN DEPARTMENT OF PUBLIC UTILITIES

NPT THREAD.

¥ ADDTIONAL DRAIN VALVES 0OR CONTROL VALVES MAY BE PLACED DOWNSTREAM

OF BACKFLOW PREVENTOR.

DIVISION OF WATER
CLEVELAND, OHIO

suBJECT APPROVED 1 METER SETTING FOR
1 METER & BACKFLOW ASSEMBLY FOR VAULTS
* "L AWN IRRIGATION ONLY"

DATE 8-22-2012 NONE
CHECKED BY _ DATE

DRAWN BY RSK —SCALE-
STD-M24




/ ll/
2’-65

4_1/ 1/_]_1/
METER BY
DIVISION OF

1 WATER

S gm Ty

0 do—= !
@-o
s e &~
|
INLET _ { ~ T — — ) OUTLET
{ ' ] {
1 é
5
27 COPPER FROM 1'-67 | | 2’ COPPER TO
CURB STOP BUILDING
STANDARD DETAILS
DEPARTMENT OF PUBLIC UTILITIES
ITEM 4 TO BE SET AN AN ANGLE WITH LOCK AND CABLE. DIVISION OF VATER
CLEVELAND, OHIO
NOTE: ]
MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEPENDING ON THE suBJECT__ STANDARD 1} METER SETTING WITH

TEE'S, VALVES, AND CHECK VALVES SUPPLIED.

.1.' ”y
ADJUSTMENTS TO THE BYPASS CITEM 17> WILL BE MADE BY THE DIVISION OF WATER 2" NETER TN VAULT TR & CONNECTIM

AS NEEDED. DRAWN BY RSK -SCALE- STD "25
DATE _1-12-1999 |_3" = 1'-0" -
ALL BOLTS AND GASKETS BY SUPPLIER. CHEGKED BY MIs DATE L




10

11

12

13

14

15

16

17

18

19

20

21

MATERIALS REQUIRED FOR INSTALLATION

STANDARD 1-1/2” METER SETTING WITH 1-1/2” METER FOR 2” CONNECTION

377

30”

2

2

2

1lb.

SIZE

1-1/2”

1-1/2”

1-1/2”
111

1-1/2”

1-1/2”

1-1/2” x 1” x 1-1/2”

1-1/2”

1"

1-1/2”

1-1/2”

1-1/2”

1-1/2”

111

1-1/2”

1-1/2”

1”

1-1/2”

2" x 1-1/27

2”

DESCRIPTION

METER BY C.W.D.

STREAMLINE SWING CHECK VALVE,
COPPER TO COPPER

STREAMLINE HAND WHEEL GATE VALVES
STREAMLINE O.S. & Y. GATE VALVE

STREAMLINE STREET ELBOW,
COPPER TO COPPER

STREAMLINE TEE, COPPER TO COPPER
STREAMLINE TEE, COPPER TO IRON, FEMALE
STREAMLINE COUPLING, COPPER TO IRON, FEMALE
STREAMLINE UNION, COPPER TO COPPER
STREAMLINE COUPLING, COPPER TO IRON, MALE
BRASS SCREW PLUG

STREAMLINE COUPLING, COPPER TO IRON, FEMALE
OVAL FLANGES, FEMALE

STREAMLINE COUPLING, COPPER TO IRON, FEMALE
STREAMLINE COUPLING, COPPER TO IRON, FEMALE
COPPER TUBING - HARD

COPPER TUBING - HARD

BRASS CLOSE NIPPLE

BRASS REDUCER COUPLING

COMPRESSION COUPLING, COPPER TO IRON, MALE

SPECIAL SOLDER

(SEE DRAWING No. STD-M25 and STD-V01).

1-12-1999



TAP BOX AND CURB BOX AND
TAP M/ALVE _W\ CURB /AL VE _\\ METER VAULT — VAULT ACCESS GRADE
“_ T T | — \ /{‘ /_ - \
- .4.4 izt 'I__q' A.v 'l; ~zZT ._A_ | 4
C e . SR
. 4 T a. . : < °
.4 . . - ? v
P v - L W
.. : - A4l 4
14 “ I
L ..‘7 <
> .
O 4
(—, .. .
L A 103 1" WATER
- o Z METER
5 . VALVE ////_BY cwo. |
0 - VALVE | ., .
S A s
2 — |2 ORISEAL VALVE 2
Z < 'v. 4
; .~ | /—2" to 1’ REDUCER
:4 . 4
< %
a s -~ /| 2 TYPE “k* COPPER
et S ///{ FOR SERVICE
“a /| CONNECTION
Q ..\l 4.. .
) INLET ’ -
_______ " S I —1 /£ outier

TYPE “K” COPPER FEIR—/
SERVICE CONNECTION

—.

. g
é.A-A'_Q

WATER MAIN 2 TAPPING SADDLE / Ll" PRESSURE REGULATOR /
17 METER SETTER 307 HIGH:

MUELLER Cot. No. B2404FD WITH H-14222 COUPLING FOR FLARE CONNECTION

OR H-14227 COUPLING FOR COMPRESSION CONNECTION.

FORD 70 SERIES COPPER SETTER Cat. No. VV74-30 WITH FLARED 0OR COMPRESSION CONNECTION.

COMPRESSION COUPLING COPPER TO IRON MALE,
(2) 17 COMPRESSION COUPLING COPPER TO IRON MALE.

CONNECTION REDUCERI (2) 27
2> 2”7 x 1Y REDUCER COUPLING BRASS,

STANDARD DETAILS

DEPARTMENT 0OF PUBLIC UTILITIES
DIVISION OF WATER
CLEVELAND, OHIO

STANDARD 1”7 METER SETTING WITH

SUBJECT.

1 REGULATOR FOR 2 CINNECTION IN VAULT

DRAWN BY RSK —SCALE-
DATE _1-12-1999 3 = v
CHECKED BY MJS DATE _1-12-99

STD-M26




TAP BOX AND CURB BOX AND
TAP M/ALVE \ CURB /AL VE \ METER VAULT — VAULT ACCESS GRADE
“_ T T | — \ /{‘ /_ - \
) ‘; . N '._' _l”q_ rv. 'A:- ~Z] ._4. . N 2
T, < a4 . Se e
. 4 T a. . : < °
. . . - ? v
. E v 1A4. . A. L ]
.. : - A4l 4
14 “ I
Lol ..‘7 <
> .
[ a4
(&) L
L - 103 1" WATER
X . z METER
5 . VALVE /BY cwo. |
0 - VALVE | ., .
s i v
2 15+ ORISEAL VALVE :
Z < v 4
Z |

INLET

1 METER

30

1%" TYPE “K” COPPER FOR
SERVICE CONNECTION

1%' TAPPING SADDLE

WATER MAIN

13 to 1 REDUCER

1” METER SETTER 30" HIGH:
MUELLER Cat. No.

_ 1%' to 1 REDUCER
il /

1%” TYPE “K” COPPER

FOR SERVICE
CONNECTION

OUTLET

= -———— ———  —  —  — ——— =

a |-/ - o :

;g]{ -

_4
T

/

OR H-14227 COUPLING FOR COMPRESSION CONNECTION.
FORD 70 SERIES COPPER SETTER Cot. No. VV74-30 WITH FLARED OR COMPRESSION CONNECTION.

Ll" PRESSURE REGULATOR /

1 TYPE “K” COPPER

B2404FD WITH H-14222 COUPLING FOR FLARE CONNECTION

CONNECTION REDUCER: (2) lé" COMPRESSION COUPLING COPPER TO IRON MALE,
2> ].é" x 17 REDUCER COUPLING BRASS, (2> 1 COMPRESSION COUPLING COPPER TO IRON MALE.

STANDARD DETAILS

DEPARTMENT 0OF PUBLIC UTILITIES
DIVISION OF WATER
CLEVELAND, OHIO

SUBJECT__ STANDARD 1 METER SETTING WITH

1 REGULATOR FOR 1&' CONNECTION IN VAULT

DRAWN BY RSK —SCALE-
DATE _1-12-1999 3 = v
CHECKED BY _MJS DATE _1-lp-D9

STD-M27/




TAP BOX AND CURB BOX AND
TAP VALVE ‘\ CURB VALVE \ /—VAULT ACCESS GRADE\

“_ T T | — /{‘ 7
o ..q.' e .
METER VAULT—=ta :
” A L 1” WATER METER
L <-4 S BY C.W.D.
> . A\
P . @&
o . ‘a
L < o
O ’ 1[]31 .v-‘.' VALVE
S . 4 .
| <
2 _ / I_l/ ! A
=) | Vi q.d .4.
E — | 2” ORISEAL VALVE 9 VALVE .
[ 4 2’ to 1’ REDUCER
_ Aq/
' 5 * TYPE “K” COPPER
e, ™ / FOR SERVICE
4 | 1" METER g CONNECTION
.| SETTER
INLET s
——————— —- -—-—-—-—-l—- == = 3 QUTLET _
2* TYPE “K* COPPER —/ e S TR T T
FOR SERVICE CONNECTION N O A - B KA
WATER MAIN 2 TAPPING SADDLE
, , STANDARD DETAILS
e’ to 17 REDUCER 1% TYPE “K* COPPER DEPARTMENT OF PUBLIC UTILITIES
1” METER SETTER 30”7 HIGH: DIVISION OF WATER
MUELLER Cot. No. B2404FD WITH H-14222 COUPLING FOR FLARE CONNECTION CLEVELAND, OHIO

OR H-14227 COUPLING FOR COMPRESSION CONNECTION.
FORD 70 SERIES COPPER SETTER Cot. No. VV74-30 WITH FLARED OR COMPRESSION CONNECTION. SUBJECT ___ STANDARD 1" MPTER SETTING

FOR 27 CONNECTION IN VAULT

CONNECTION REDUCERN (2> 27 COMPRESSION COUPLING COPPER TO IRON MALE.

(@ 27 x 1’ REDUCER COUPLING BRASS, (2) 1 COMPRESSION COUPLING COPPER TO IRON MALE. SRAVN BY BSK —SCAES
DATE _1-12-1999 w=vv |STD-M28

CHECKED BY _MJS DATE _1-l2-D9O




TAP BOX AND CURB BOX AND
TAP VALVE ‘\ CURB VALVE \ /—VAULT ACCESS GRADE\

T T T  — /m z
o ..q.' - .
METER VAULT —= 4 .
v b . 17 WATER METER
0 < a - A BY CWD
] . T
o . _'A .
= 3 10% i VALVE
T—Ty 2 . X
0 I_l/ ! A
5 1, ] -
= 1+ ORISEAL VALVE RE N .
g K 15 to 1 REDUCER
N 4
: S /1% TYPE “K* COPPER
. @ / FOR SERVICE
«"| 1 METER & CONNECTION
| SETTER
._v:A
INLET
= e p— ————l—— i 4 : -l—-— ___________ » OUTLET _
th* TYPE “k* COPPER _/ e T e . o
FOR SERVICE CONNECTION A RS B A
1s
WATER MAIN 15" TAPPING SADDLE
= 1o STANDARD DETAILS
1" To 17 REDULER 1" TYPE “K” COPPER DEPARTMENT OF PUBLIC UTILLTIES
1” METER SETTER 30”7 HIGH: DIVISION OF WATER
MUELLER Cat. No. BR2404FD WITH H-14222 COUPLING FOR FLARE CONNECTION CLEVELAND, OHID

OR H-14227 COUPLING FOR COMPRESSION CONNECTION.
FORD 70 SERIES COPPER SETTER Cot. No. VV74-30 WITH FLARED OR COMPRESSION CONNECTION. SUBJECT ___ STANDARD 1" MPTER SETTING

FOR 1&' CONNECTION IN VAULT

CONNECTION REDUCER: (2) 1%" COMPRESSION COUPLING COPPER TO IRON MALE,
DRAWN BY RSK -SCALE-

2> ].é" x 17 REDUCER COUPLING BRASS, (2> 1 COMPRESSION COUPLING COPPER TO IRON MALE. DATE _1-12-1999 we=ra [STD-M29
CHECKED BY _MJS DATE _1-12-59




€ WATER MAIN

[l

DISTANCE VARIES

PAVEMENT WIDTH VARIES

NOTE:

VAULT TO BE INSTALLED IN GRASS AREAS ONLY.

C CURB BOX

2’-0" TYP.

VAULT TO BE INSTALLED RIGHT BEHIND THE CURB VALVE

107”

METER BY C.W.D.

/’ CURB

MAY VARY

INSULTION PAD (217

GRADE PART NUMNBER =

x 47

790119

/

CURB ‘\

OF COVER

TYPICAL 6'-0*

an

WATER MAIN

NEW 1"

— CORPORATION STOP

“GOOSENECK” BEND

K

COPPER FOR

TYPE
/ SERVICE CONNECTION

MIN,

5/—6”

O NN

|
SN A

/|

ORI
s

CURB BOX

1

A

~
o]
—

CURB STOP

REGULATOR SUPPLIED
WITH METER PIT
WILKINS NUMBER 70 PRV 1’

SECTION A-A

LID REQUIRES HOLE
FOR TOUCH READ METER
UNLESS OTHERWISE
SPECIFIED.

RIGHT OF WAY

66"

CLEVELAND STANDARD
RESIDENTIAL
METER PIT. METER BY C.W.D.

MUELLER/HUNT
METER PIT PART NUMBER
330AT2162FF BN0O00291

FRAME (4" RISE)
PART NUMBER 700098-1

| 21” LID WITH PLUG
(FOR TOUCH READ>
PART NUMBER 683594
PLUG ONLY

|4
BRICK SUPPORT

RESPONSIBILITY OF DIVISION OF WATER

=

PART NUMBER 311952

\¢
A
IR,

—

RESPONSIBILITY OF PROPERTY OWNER

TYPE “K* COPPER FI:IRl
SERVICE CONNECTION
TO STRUCTURE

SERVICE CONNECTION WITH CLEVELAND STANDARD METER PIT WITH REGULATOR DETAIL IN PUBLIC RIGHT OF WAY

STD-M30

- NOT TO SCALE -

DATE: 10-12-2007/

BY: RSK




OUTLET

3
C WATER MAIN NOTE: 193
DISTANCE VARIES VAULT TO BE INSTALLED IN GRASS AREAS ONLY. METER BY C.W.D.
T CURB BOX
PAVEMENT WIDTH VARIES 20" TYP, VAULT TO BE INSTALLED RIGHT BEHIND THE CURB VALVE
MAY VARY
CURB CURB INSULTION PAD @1° x 4%
[ \ GRADE PART NUMNBER = 790119
|
TR, e |
\//\\//\\//\\\ ] INLET
\///\///\///< ( —‘ 3 SECTION A-A
SONANON
A ﬁ@@ A ¢ | LID REQUIRES HOLE
i i FOR TOUCH READ METER
| UNLESS OTHERWISE
CURB BOX SPECIFIED.
_ i i CLEVELAND STANDARD
Z RESIDENTIAL
o = | METER PIT. METER BY C.W.D.
S N .
8 7 N | MUELLER/HUNT
n iy 0 METER PIT PART NUMBER
s 330RS2162F F BN000237

FRAME (4* RISE)
PART NUMBER 700098-1

— CORPORATION STOP

RIGHT OF WAY

CURB STOP
217 LID WITH PLUG

(FOR TOUCH READ>
PART NUMBER 683594
PLUG ONLY

PART NUMBER 311932

TYPE ‘K COPPER FOR
/SERVICE CONNECTION
»3% = = -

3 £
BRICK SUPPORT & & N\
7 O\ wer
NI TYPE “K* COPPER FOR
\/\\//\\/\ \\\/\/\\/f SERVICE CONNECTION
TO STRUCTURE

“GOOSENECK” BEND

TYPICAL 6'-0"

RESPONSIBILITY OF DIVISION OF WATER RESPONSIBILITY OF PROPERTY OWNER

WATER MAIN

NEW 1" SERVICE CONNECTION WITH CLEVELAND STANDARD METER PIT IN PUBLIC RIGHT OF WAY

- NOT 7O SCALE -

STD-M31 DATE: 10-12-2007/| BY: RSK




PRESSURE
VACCUM
BREAKER 5 @
12" ABOVE THE HIGHEST OUTLET OR WATER LINE C
FROM METER NI [VARN| VNI TVANI[Y, il A AUl Alllz_&8 Al
e
SETTING { < H
M 5 | ‘-|

SPRINKLER SYSTEM PIPING

VALVE PIT

BACKFLOW & IRRIGATION DETAIL

4/_3//

8// 8/_0// 1ll II

E i t/o - / ) BACKFLOW DEVICE

PLAN |

3" IRRIGATION METER SETTING WITH 3" METER FOR VAULTS

NOTE: ALL BOLTS AND GASKETS BY SUPPLIER.
MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEPENDING ON
THE VALVES AND TEE SUPPLIED.

* ADDTIONAL DRAIN VALVES OR CONTROL VALVES MAY BE PLACED DOWNSTREAM

METER AND SPACER BY
? THE DIVISON OF WATER
/)/_\\ ﬁ VIEW A-A
o) O —_—
INLET % T A Q_O % ) outLeT TO

STD-M33| - BACKFLOW PREVENTOR DATE: 8-22-2012] BY: RSK




MATERTAL REQUIRED FOR INSTALLATION

3" TRRIGATION METER SETTING WITH 3" METER - FLANGED

ITEM Reg’d SIZE DESCRIPTION

1 1 3" TURBINE METER & SPACER
(PROVIDED BY C.W.D.)

2 1 3" x 3" x 3" x 3" CROSS, FLANGED
3 2 3" HAND WHEEL GATE VALVES, FLANGED
4 2 3" BLIND FLANGES, DRILLED & TAPPED

FOR 2" BRASS NIPPLE

5 1 2" x 10" BRASS NIPPLE

6 2 2" HAND WHEEL GATE VALVE, SCREWED
7 2 2" BRASS PLUG

8 8 3" RING GASKETS

9 32 5/8" x 2-1/2" MACHINE BOLTS

10 32 5/8" HEX NUTS

11 1 2" x 6" BRASS NIPPLE

(SEE DRAWING STD-M33 & STD-VO01).

8-22-2012



4"

qr pr—g1 1'-1* gr
METER AND SPACER
BY DIVISION OF WATER

Z ) QUTLET TQ >
) BACKFLOW DEVICE

INLET .é —

:

IRRIGATION METER SETTING WITH 4" METER FOR VAULTS

NOTE:

ALL BOLTS AND GASKETS BY SUPPLIER.

MINOR VARIATIONS IN THE OVERALL LENGTH ARE TQ BE EXPECTED DEPENDING ON
THE VALVES AND TEE SUPPLIED.

FOR TYPE AND MODEL OF BACKFLOW DEVICE REQUIRED CONTACT THE BACKFLOW UNIT AT

(218) 664—3944,
VIEW A-A

STD-M34

DATE: 3-13-2000| BY:

RSK




4" TRRIGATION METER SETTING WITH 4"

MATERTAL REQUIRED FOR INSTALLATION

METER - FLANGED

ITEM

9

10

(SEE DRAWING STD-M34 & STD-VO01).

4-19-2000

Reg’d

56

56

SIZE

4"

4" X 4" X

4"

4"

2" x 10"
on
on
4n
5/8" x 3"

5/8"

4"

DESCRIPTION

TURBINE METER & SPACER
(PROVIDED BY C.W.D.)

TEE, FLANGED

HAND WHEEL GATE VALVES,
BLIND FLANGES, DRILLED
FOR 2" BRASS NIPPLE
BRASS NIPPLE

HAND WHEEL GATE VALVE,
BRASS PLUG

RING GASKETS

MACHINE BOLTS

HEX BOLTS

FLANGED

& TAPPED

SCREWED



@
©

6'-2"

1a 1,
102 3/-17 1/=4" ]'UE
METER AND SPACER BY

> OUTLET

0

O

INLET  _ \ :{_ _
B2

6" IRRIGATION METER SETTING WITH 6" METER FOR VAULTS

NOTE: ALL BOLTS AND GASKETS BY SUPPLIER.

MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEPENDING ON
THE VALVES AND TEE SUPPLIED

FOR TYPE AND MODEL OF BACKFLOW DEVICE REQUIRED CONTACT THE BACKFLOW UNIT AT
(216> 664-3944.

SIZE THE METER VAULT ACCORDINGLY WITH THE BACKFLOW DEVICED USED,

STD-M35

THE DIVISION OF WATER %

VIEW A-A

DATE: 4-19-2000

BY:

RSK




6" TIRRIGATION METER SETTING WITH

MATERTAL REQUIRED FOR INSTALLATION

6"

METER - FLANGED

ITEM

1

9

10

(SEE DRAWING STD-M35 & STD-VO01).

4-19-2000

Reg’d

56

56

SIZE

6"

6" X 6" X 6"

6"

6"

2" x 10"
on
on
on
3/4m x 3-1/2"

3/411

DESCRIPTION

TURBINE METER & SPACER
(PROVIDED BY C.W.D.)

TEE, FLANGED

HAND WHEEL GATE VALVES,
BLIND FLANGES, DRILLED
FOR 2" BRASS NIPPLE
BRASS NIPPLE

HAND WHEEL GATE VALVE,
BRASS PLUG

RING GASKETS

MACHINE BOLTS

HEX BOLTS

FLANGED

& TAPPED

SCREWED



15 2" NPT PLUG WITH 2° FEMALE SUNLESS OTHER ACCOMMODATIONS HAVE
s NPT THREADED SOLDER JOINT BEENAPPROVED BY THE CWD METER DEPT.,
/ ADAPTER THE CONTRACTOR 1S TO BUILD THE METER ASSEMBLY
B i 2" - 90° LONG RADIUS INSIDE BUILDING INCLUDING BYPASS PIPING,
! = SOLDER JOINT ELBOW SPACER PIECE AND TEST PIPING FROM THE CHECK
s VALVE THROUGH THE BUILDING FACE. )
L SECURE2'PIPETOWALL  «Cwp METER DEPT. WILL INSPECT ALL WORK
- - 2"TYPRK COPPER TYPICAL AND INSTALL METER IF APPROVED.
5 LENGTHS VARY FOR LOCATION
= o NOTE; THIS DETAIL MAY ONLY EE USED [F
. THE METER DEPT, HAS INSPECTED THE SITE
SECURE 2° PIP8 TO WALL AND DETERMINES THT THERE ARE PHYSICAL
SPACEB RESTRICTIONS INHIBITING THB
;  GRADE . 1ST FLOOR INSTALLATION OF A METER VAULT. 5
. SECURE 2" PIPE E
- - 2" - 45° SOLDER JOINT ELBOW
2. 4$% SOLDER — .+ :
ot . | SECURE2*PIPE TO CEILING E
- 1° x 3" THREADED REDUCER WITH ;
" |"MALENPTx SOLDER JOINT ADAFTER PBTCOCK FOR TEST TEE DRAINAGE ~
4 2"x 2" x 1% THREADED TEE
- 2" x 6” LONG THRBADED NIPPLE
y NOTE: 40-0" MAXIMUM LENGTH
; FOR 2" TBST TEE FIPING FROM
B 2° x2* x 1" THREADED TEE TO 2" NPT PLUG
s FLOW
¢ .
S8 BASEMENT

LARGE METER SETTINGS INSIDE BUILDING

DATE: 9-15-2004




10’-0”

1'—-6"

8//

53//

1'-6"

INLET

9//

8//

l//
118

l//
118

OUTLET

1_ l//
2'-45

’_ l//
=) 88

l//
108

l//
118

NOTE: ALL BOLTS AND GASKETS BY SUPPLIER.

PLAN

MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEPENDING ON THE

TEE'S, VALVES, AND CHECK VALVES SUPPLIED.

ADJUSTMENTS TO THE BYPASS (ITEM No. 10> WILL BE MADE BY THE DIVISON OF WATER

AS NEEDED.

STANDARD DETAILS

DEPARTMENT 0OF PUBLIC UTILITIES
DIVISION OF WATER

CLEVELAND, OHID

suBJecT__FM APPROVED 8” COMPOUND

METER ASSEMBLY FOR VAULT

BADGER MODEL FSAA-01 OR APPROVED

DRAWN BY RSK

DATE 5-25-2001

—-SCALE-
1=1/2" = 1'-g

CHECKED BY DATE

STD-M37




MATERTALS REQUIRED FOR INSTALLATION

FM APPROVED 8"

COMPOUND METER ASSEMBLY FOR VAULT

ITEM REQ'D SIZE

1 1 g

2 2 g

3 1 6"

4 1 2"

5 1 2"

6 2 8" x 6"

7 2 6"

8 6 6" x 11"

9 g5 6"
10 1 2" x 4-1/2"
11 7 g
12 7 6"
13 112 3/4" x 3-1/2"
14 8 3/4" x 4-1/4"
15 120 3/4"
16 2 8" x 13-1/2"
17 g g

(SEE DRAWING No. STD-M37 & STD-VO01).

5-25-2001

DESCRIPTION

FM APPROVED COMPOUND METER ASSEMBLY
(BY CONTRACTOR)

HAND WHEEL GATE VALVES, FLANGED
0.S.Y. VALVE, FLANGED
HAND WHEEL GATE VALVE, SCREWED

BRASS PLUG
CAST IRON TEES, FLANGED
CAST IRON ELBOWS, FLANGED LR
CAST IRON FLANGE, 8 HOLE
GALVANIZED PIPE, EXTRA HEAVY
BRASS NIPPLE
FLANGE GASKETS
FLANGE GASKETS
MACHINE BOLTS
STUD BOLTS

HEX NUTS

CAST IRON FLANGE, 8 HOLE

GALVANIZED PIPE, EXTRA HEAVY



13-0”

2/—g” 17—p* 1-0* 5—g* 17—p* 2/—0*

OUTLET,

_—

R

-2 7-8h* . 1 | v-er

PLAN

STANDARD DETAILS

NOTE: ALL BOLTS AND GASKETS BY SUPPLIER. DEPARTMENT OF PUBLIC UTILITIES
MINOR VARIATIONS IN THE OVERALL LENGTH ARE TO BE EXPECTED DEPENDING ON THE DIVISION OF WATER

TEE’S, VALVES, AND CHECK VALVES SUPPLIED. CLEVELAND, OHIO

ADJUSTMENTS TO THE BYPASS (ITEM No. 10> WILL BE MADE BY THE DIVISON OF WATER

AS NEEDED. susJgect_FM APPROVED 12 COMPOUND

METER ASSEMBLY FOR VAULT

DRAWN BY RSK -SCALE-

ATt oo | cece | STD-M39

CHECKED BY DATE




MATERTALS REQUIRED FOR INSTALLATION

FM APPROVED 12" COMPOUND METER ASSEMBLY FOR VAULT

ITEM REQ'D SIZE DESCRIPTION
1 1 12" FM APPROVED COMPOUND METER ASSEMBLY

(BY CONTRACTOR)

2 2 12" HAND WHEEL GATE VALVES, FLANGED
3 1 g 0.S.Y. VALVE, FLANGED

4 1 2" HAND WHEEL GATE VALVE, SCREWED
5 1 2" BRASS PLUG

6 2 12" x 8" CAST IRON TEES, FLANGED

7 2 8" CAST IRON ELBOWS, FLANGED LR

8 6 8" x 13-1/2" CAST IRON FLANGE, 8 HOLE

9 110" 8" GALVANIZED PIPE, EXTRA HEAVY
10 1 2" x 4-1/2" BRASS NIPPLE
11 7 12" FLANGE GASKETS
12 7 8" FLANGE GASKETS
13 84 7/8" x 4" MACHINE BOLTS
14 8 7/8" x 4-3/4" STUD BOLTS
15 100 7/8" HEX NUTS
16 1 12" x 12" LONG FLANGED DUCTILE IRON PIPE
17 56 3/4" x 3-1/2" MACHINE BOLTS
18 56 3/4" HEX NUTS

(SEE DRAWING No. STD-M39 & STD-V01)
6-25-2004



PRESSURE VACCUM BREAKER

FROM METER SETTIN llly

12” ABOVE THE HIGHEST OUTLET OR WATER LINE

FLOW

BACKFLOW & IRRIGATION DETAIL

VALVE PIT

SPRINKLER SYSTEM PIPING

4 a a q < 4
| <4 e . < & 1~ 3
o
VAULT WALL—=. 18" MIN 6" MIN, 18" MIN. | E
i 36" MAX 12 MAX. 36" MAX. COUPLING WITH
4 METER aq BRASS SCREW PLUG
B K DRAIN TEE
e TR = —HRIF——+ ——— ¢
LA 1] e SCE ACKTLO
] DIM. X SEE DRAIN -
TEE DETAIL N
- OVAL FLANGE, VR 4
HIgNE FEMALE DIM. a b
HAND WHEEL GA¥ VALVE— SETTING X v STANDARD DETAILS
MUST BE SIZE OF INCOMING 13 -1
SERVICE. VALVE IS FEMALE PLAN DEPARTMENT OF PUBLIC UTILITIES
NPT THRi—ZAD - - 2’ 1'=-37 DIVISION OF WATER

* ADDTIONAL DRAIN VALVES OR CONTROL VALVES MAY BE PLACED DOWNSTREAM
OF BACKFLOW PREVENTOR,

CLEVELAND, OHIO

SUBJECT APPROVED 1¥ & 2’ METER SETTINGS FOR

13" & 2 METER & BACKFLOW ASSEMBLY FOR VAULTS

* "LAWN IRRIGATION ONLY"

DRAWN BY RSK
DATE 8-22-2012

—-SCALE-
NONE

CHECKED BY DATE

STD-M40




STANDARD

MATERTIAL REQUIRED FOR INSTALLATION

3" METER SETTING - 2" METER

ITEM

1

2

10

11

12

13

14

15

16

17

18

19

20

21

22

23

(SEE DWG.
11-19-98

Reg’d SIZE
1 2"
2 2" x 6"
2 3"
1 3"
1 2"
2 3" x 3" x 3"
2 2" x 10"
2 2"
2 2"
1 2"
36" 2"
2 2" x 2-1/2"
2 3" x 7-1/2" DIA.
2 2"
1 2"
1 2" x 10"
2 3"
1 2"
S 3"
2 2"
36 5/8" x 2-1/2"
2 5/8" x 3"
38 5/8"

STD-M04 & STD-M05 & STD-VO01) .

DESCRIPTION

HAND WHEEL GATE VALVE, SCREWED
GALVANIZED NIPPLES

HAND WHEEL GATE VALVE NRS,
FLANGED

SWING GATE CHECK VALVE, FLANGED
0.S.Y. VALVE, SCREWED
TEE, FLANGED
GALVANIZED NIPPLE
GALVANIZED ELBOWS - 90 DEGREES

GALVANIZED STREET ELBOWS

GALVANIZED UNION, MALE TO FEMALE

GALVANIZED PIPE, EXTRA HEAVY

BRASS NIPPLES
WITH 2" TAP

FLANGES (4 HOLE)

ELLIPTICAL FLANGES
(BY C.W.D.)

(2 HOLE)
DISPLACEMENT METER

(METER BY C.W.D.)

BRASS NIPPLE

BLIND FLANGES, DRILLED & TAPPED

FOR 2" x 6" NIPPLES FOR ITEM No.

BRASS PLUG

RING GASKETS

ELLTPTICAL GASKETS

MACHINE BOLTS

STUD BOLTS

HEX BOLTS

2



	Binder1.pdf
	Std_m01
	STD_M01_BOM
	Std_m02
	STD_M02_BOM
	Std_m03
	STD_M03_BOM
	Std_m04
	Std_m05
	Std_m06
	Std_m07
	Std_m08
	STD_M08_BOM
	Std_m09
	STD_M09_BOM
	Std_m10
	STD_M10_BOM
	Std_m11
	STD_M11_BOM
	Std_m12
	STD_M12_BOM
	Std_m13
	STD_M13_BOM
	Std_m14
	STD_M14_BOM
	Std_m15
	Std_m16
	Std_m17
	Std_m18
	Std_m19
	Std_m20
	Std_m22
	Std_m23
	Std_m24
	Std_m25
	STD_M25_BOM
	Std_m26
	Std_m27
	Std_m28
	Std_m29
	STD_M30
	STD_M31
	Std_m32
	Layout1

	Std_m33
	STD_M33_BOM
	Std_m34
	STD_M34_BOM
	Std_m35
	STD_M35_BOM
	Std_m36
	Std_m37
	STD_M37_BOM
	Std_m38
	STD_M38_BOM
	Std_m39
	STD_M39_BOM
	Std_m40
	STD_M045_BOM
	STD_M067_BOM


